
Stæf2am05.            Heimaverkefni 3 (kaflar 8 -9).       Haustönn 2024. 

 
Nafn : Lausn 

 

 Einfaldaðu: 

 

1)   𝑎2 ⋅ 𝑎5: 𝑎 

𝑎2 ⋅ 𝑎5 ⋅ 𝑎−1 

 

𝒂𝟐+𝟓−𝟏 = 𝒂𝟔 

 

2)   2 ⋅ 𝑥2 ⋅ 𝑦² ⋅ (3 ⋅ 𝑥³ ⋅ 𝑦³)2 

2 ⋅ 𝑥2 ⋅ 𝑦² ⋅ 32 ⋅ 𝑥6 ⋅ 𝑦6 

 

18𝑥8𝑦8 

 

3) 
𝑎4⋅𝑏²𝑎

3⋅𝑏3  

𝑎4 ⋅ 𝑏² ⋅ 𝑎 ⋅ 𝑏−3

3
 

 

𝒂𝟓 ⋅ 𝒃−𝟏

𝟑
=

𝒂𝟓

𝟑𝐛
 

 

 

4)     
𝑥4⋅𝑦²(3𝑥³⋅𝑦)−1

3𝑥4⋅𝑦3: 𝑥3  

𝑥4 ⋅ 𝑦² ⋅ 3−1𝑥−3 ⋅ 𝑦−1

3𝑥4 ⋅ 𝑦3 ⋅  𝑥−3
 

 

𝑥4 ⋅ 𝑦² ⋅ 3−1𝑥−3 ⋅ 𝑦−1 ⋅ 𝑥−4 ⋅ 𝑦−3 ⋅  𝑥3

3
 

 

3−1 ⋅ 𝑥4−3−4+3 ⋅ 𝑦2−1−3

3
=

𝑥0 ⋅ 𝑦−2

3 ∙ 3
 

 

 

𝒚−𝟐

𝟗
=

𝟏

𝟗𝒚𝟐
 

 



5)  2√32 − √98 
 

2√2 ∙ 16 − √2 ∙ 49 = 
 

2√16 ∙ √2 − √49 ∙ √2 = 
 

2 ∙ 4 ∙ √2 − 7 ∙ √2 = 

 

𝟖√𝟐 − 𝟕√𝟐 = √𝟐 
 

6)   
√20−√125

√180
 

√4 ∙ 5 − √25 ∙ 5

√36 ∙ 5
 

 

2 ∙ √5 − 5 ∙ √5

6 ∙ √5
 

 

−𝟑 ∙ √𝟓

𝟔 ∙ √𝟓
=

−𝟑

𝟔
= −

𝟏

𝟐
 

 

 

 

7)  √𝑥35
⋅ √𝑥56

⋅ √𝑥
15

: √𝑥23
 

𝑥
3
5 ⋅ 𝑥

5
6 ⋅ 𝑥

1
15 ⋅ 𝑥−

2
3 = 𝑥

18+25+2−20
30 = 

 

𝒙
𝟐𝟓
𝟑𝟎 = 𝒙

𝟓
𝟔 = √𝒙𝟓𝟔

 

 

 

8) 
√𝑥𝑦63

𝑥
1
3𝑦

 

𝑥
1
3 ⋅ 𝑦

6
3 ⋅ 𝑥−

1
3 ⋅ 𝑦−1 = 𝑥

1
3

−
1
3 ⋅ 𝑦2−1 = 

 

𝒙𝟎 ⋅ 𝒚𝟏 = 𝒚 

 
Skiladagur er miðvikudagur 16. október. 


